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abstract class Employee {
public abstract void add(Employee employee);
public abstract void remove(Employee employee);
public abstract void myPrint();
public virtual void setDep(int dep) { this.dep = dep; }

public void print() {
Console.WriteLine(dep + ™" + Name + ", Salary =" + Salary);
myPrint();

¥

public String Name { get; set; }
public int Salary { get; set; }
protected int dep;
private String name;
private int salary;
}
class Manager: Employee {
public Manager(String name, int salary) {
Name = name;
Salary = salary;
setDep(1);

public override void setDep(int dep) {
this.dep = dep;
foreach (Employee employee in employees) {
employee.setDep(this.dep + 1);

}

}

public override void add(Employee employee) {
employee.setDep(dep + 1);
employees.Add(employee);

public override void myPrint() {
if (employees.Count>0) {
Console.WriteLine("'The management team " + dep);
foreach (Employee employee in employees) {
employee.print();
}
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Console.WriteLine("The team end " + dep);
}
}
public override void remove(Employee employee) {
employees.Remove(employee);
}

private List<Employee> employees = new List<Employee>();
}
class Developer: Employee {
public Developer(String name, int salary) {
Name = name;
Salary = salary;
setDep(1);
}
public override void myPrint() { /*leaf node is not applicable*/ }
public override void add(Employee employee) { /*leaf node is not applicable*/ }
public override void remove(Employee employee) { /*leaf node is not applicable*/ }
}
class Program {
static void Main(string[] args)  {
Employee Tom = new Manager(""Tom", 90000);
Employee Mary = new Manager(""Mary", 80000);
Employee John = new Manager(*John", 70000);
Employee Kevin = new Developer("Kevin", 50000);
Employee Sam = new Developer("Sam", 40000);
Employee Bob = new Developer("Bob", 40000);
Mary.add(Kevin);
Mary.add(Sam);
John.add(Bob);
Tom.add(Mary);
Tom.add(John);
John.print();
Tom.print();
Console.Read();
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